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vV W& HHIF 18 A 20 dF FA03 He ¢ YeA®w 9T & faw 03 3% fruiRa &
Vi W& FHHIH 21 § 23 F Tl 03 TA ¢ | T4 WeeT & fAw 04 3 frefifa
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Instructions:

i- All questions are compulsory!

Ii - There are 30 objective questions from question number 1 to 5, 01 mark is
prescribed for each sub question. Correct option is 06, blank space is 06,
true/false is 06, correct pair is 06, a sentence is of 06 marks.

iii- Internal options are given in each question from question no. 6 to 23.

iv- There are total 12 questions from question number 6 to 17. 0 2 marks are
prescribed for each question.

v - There are total 03 questions from question number 18 to 20. 03 marks are
prescribed for each question
vi - There are total 03 questions from question number 21 to 23. 04 marks
are prescribed for each question.
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Q1- Answer multiple choice questions.

i- India is a part of which continent?

A -Europe B -Asian

C- Africa D- Australia

I1- Which are the areas where natural vegetation is found in India?

A-Himalayas B-Central India

C- Desert D- All of the above
iii- Which of the neighboring countries of India has higher population density than India?

A-Pakistan B-Nepal

C — Myanmar D — Bangladesh

IV- When did the French Revolution begin?

A- 1780 AD. B- 1890 AD.

From 1789 AD to

v— The Second International was related to —

A-Feudalism B-Socialism

C-Capitalism D-Imperialism

- In which country did Nazism emerge as a political ideology?

A - ltaly. B-jrmne

C - Japan D -France

uy 2- aa wIFL fo gfd s
i- . oA AR @ drear s faw.... qTey T 39T T SATaT &
li- 2011 3T SFTAINUTAT & HTAR HRA H AEGRAT ... AT

Il g @RI Flecee ... Iirrn%




Iv- gys faeagey & fav ... 3 fSFAeR sgrar 7|
V- g7 Tar F TATIT Iy HET IS AT
Vi- A1ars eree Frenfsee ... IR

Questlon 2- Fill in the blanks?

- plant is used to cure cold and cough.

ii- According to the 2011 census, the literacy rate in India was..............
iii The Social Contract...... is composed-

IV-......was held responsible for the First World War.

V- Forest Service was established in the year

Vi- The word Maasai literally means.............

UY3- T /3T BT TG PIford?

i~ gITaT ASE T ITRTC H g |

- eArofiarTe g e i

iii- 9T U YATRIST TsT & |

V- 8T 2211950 & Tl 31T

V- Sm?rﬁrqga-id 8 AT STl dTell Eel AXPR FeATcT & |

- ClehdITAeh STEEUT H ATHeRT T Y ShTe]sT T ITeled AT BT & | |

Question 3- Select True/False?

I- Dudhawa National Park is in Uttar Pradesh.

1i- Nazism was anti-Jewish.

lii- India is a secular state.

iv-| India became independent in 1950.

v-. In India, the party that wins the election with majority forms the government.
vi- In a democratic system, rulers also have to follow the law. |,

UY 4- 95l st 99184 ?

hlcldH 3 CORLK]

i-. QI3 A- ar AfeAT & e st HTaT

ii- - Pl I dler B - &hgal

iil- TR T GIILTT F=AT C- 26 ATFIT1949

iv- YR-- - D fordY e&arast &1 @y fgear
V- gRa sIfd & S E- UH.UH. EGEH AT

vi- frear 3@r #r Arge F- ISERT 9Tigey TA&T0T U]
Question 4- Make the correct pair?

Column A Column B

i-. Doab A- Part between two rivers

ii- Shower of flowers B - Said

iii- Constitution of India was made on C- 26 November 1949.



Iv- Section D- A specific part of a document.

v- Father of Green Revolution E- M.S.Swaminathan

vi- Measurement of poverty line F- National Sample Survey Organization
U 5- Th qTa A IR fofad |

i-al 1T & ST T HI9T FHgelaT ¢ |

i- e TEH FATE ?

ii- TG T HATTC T T fohd 3eTeoq A &

iv- ftietar & 3merar g -

V- HA3TT ST AT 3867 8-

Vi- ST Teieh T HET 38T & -

Question 4- Make the correct pair?
Column A Column B
i-. Doab A- Part between two rivers
ii- Shower of flowers
B-Said
iii- Constitution of India was made on 26 November 1949.
iv- Section--D A specific part of a document.
v-Father of Green Revolution
E- M.S.Swaminathan
vi- Measurement of poverty line
-B National Sample Survey Organization

e - ifa 7Y ITT v & IR SR (Tl & e 02 i Ruifa ?)
U 6 - RATerT & it 9@ [aemait o A1 3o & ST8T0T o v H TS T 2

SHYdr
3TN 3R AeIre dhr ygTisal # Sia-ar gor fTua &7

Note — Answer very short answer type questions (02 marks are prescribed for each)
Question 6 — Name the three major divisions of the Himalayas in order from north to
south?

Or

Which plateau is situated in the Aravalli and Vindhyachal hills?

YUY 7- Fd 3 aRAST=T FAT § 2
YT
AT & A FATE?

Question 7- What is Namami Gange Project?
Or
What is Namami Devi Narmade?

YUY 8- - Tshara wenfad U=t & a7 RAf@T | (@5
SYdT
Jc A FATE ?



Question 8- Write the names of cyclone affected states. (any two)
Or

What is jet wind?
UH 9 --ggRfPAHedg?
SHYdr
I ST & b UbR UHTfad Bl g2

Question 9--What is called mortality rate?
Or

How does migration affect the population?

UH10- a1 foammer ra wga &2

Y4l
TATOR T FIT 3T &7

Question 10- What is called forest destruction?
Or
What is meant by sleeper?

UH11- SSTRT G gl TEol 87
STYdr
el 1A FAgATael S Agcaqut ard drsT?
Question 11- Where do the Banjara community live?

Or
Tell the important points of Fallow Land Rules?

UY12- GfaemsT gHT a7 § @
SHYdT

- U TR Ry #gd g @

Question 12- Write what is the Constituent Assembly?
Or

-Write what is called federal government?

UH13- 3T FA1d FA1 gl ¢ fafed
Y4l

- 3UATa 4T & fofad

Question 13- Write what are general elections?
Or

-Write what is by-election?

UH14- - gAfaRaeT o a1 ¢ faf@d »

SYdl
2T - gAUTIeh 3YTRT &1 31T a7 & fofEar

Question 14- Write what is a secular state?




Or
Question — What is the right to constitutional remedies?

YH15- o fFaeT Fd Fad ?
3yaT

A 3N 93 fohdTel fohd shgd & 2

Question 15- What are small farmers called?
Or
What are medium and big farmers called?

UY16- .fAeTTar 3@ & 37 3T g ?

3YdT
R H FaITH IR STATEIT aTel died Todi o o1 oAU |
Question 16- What is meant by poverty line?
Or
.Write the names of three states with the highest poverty population in India.
UAL7- wrez GRaim i 3Tavgeshdl #41 & ?

34l

STl & 31ThTel ﬂmmﬁﬂa’mqmﬁ?rg‘tf?}?

Question 17- Why is food safety needed?
Or

Who suffered the most from the Bengal famine? Were affected?

Y ST U & IR SR (TP Hie 033w FuifRa @)

9%eT 18- - HIcl Y SUAGICAIY hl T &1 &1 STeh ©, Tl TSl 3iT & Tse HfrT|
3.
fie FETARR & IR H T Tafa a1 F H1s e arer faf@d |

Answer the short answer questions.

(03 marks are prescribed for each)
Question 18- Explain from three points why India is called a subcontinent.
Or.

Write any three advantages of India's central position in the Indian Ocean.
UH19- Sredfie ¥ rread sifey &y a1e lor-anler & o TR adiet w2 918 & aRadier |
Y41

T Shifd & IS & F3TaT ot Tase HiforT|

Question 19- What major changes did the Bolsheviks make after the October Revolution?
Write any two changes.

Or
Explain any two effects of the Russian Revolution.

uazo-W%ﬁﬂwamﬁwaﬁéaﬁWﬁwgmﬁl

STYdT



ARG FiaYTeT H FRATLT Hd g g @ |

Question 20- Name three values of democracy on which any democracy is based.
Or

- Write how amendments are made in the Indian Constitution.

<t Iadta us & SR Sifvm
(TS Bferwos s Fruffa ?)
UY 21- YRd & gHRA § Fefiiad & exfzu-
3 -FgTeACY, o -=TET HSOT
T -SEA A, q Har
3fyar
YR & A B Rgfifed &7 o exfsu -
3 - BIET ATITYR HT TSR
§ - WS H ISR

Y -3 JHAT T ISR
< - fa=ared &1 UeR
Answer long answer questions
(04 marks are assigned for each)
Question 21- Show the following in the map of India-
A-Mahanadi, B-River Krishna
C-Brahmaputra River D-Narmada
Or
Show the following regions on the map of India -
A- Chhota Nagpur Plateau
B- Bundelkhand Plateau
C- Ganga Yamuna Plateau
D- Vindhyachal Plateau

UY 22 - Faenfaish 37€TeT § TR T JTAVT § TS iy ?

STYdr

3R & ST T ITEITCLT ST et f 3ThR Tohd fTe o dgd
& gasTe Il @y |

Question 22-- Explain and write what you mean by Constitutional President?
Or
-Under what rules does the President of India have the right to issue ordinances?
Explain and write.
UH 23- -. 31 va 3% 30 foramsit 1 3erexor ¢a fafae
3yYar
srfAe i 3R I ataes 7 Hi-wiet @ e frard Fearfora gid & faf@r |

Question 23- -. Write economic and non-economic activities with examples.
Or

-Write down which economic activities are conducted in the primary, secondary and tertiary sectors.
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faer:
(i) T3 g2 e g |

(i)IRTFHATR F 1 H 5 a%aﬁﬁaaﬁ%qaa%mqm%ﬁmwmﬁﬁﬁﬁ%gm
T2 30 g
(iii) 92aT haTeh 6 T 23 T 3T dhed U ITT &
(iv) 9T shaTeh 6 A 17 b ATl oY Iy 92T § Tcdeh T2 ohl o oIa1879T 30 2sel H GTSAT
|TeA UReT TR &l 37 fAUTRA B

(v)5IReT ShaATeh 18 & 20 cTeh o ST W & Ycdeh YR&T &l 3o ofa7e7dT 75 real H QST
Tcdeh 9T T R el 37eh freTRd g
(Vi) T2sT ShATeh 21 H 23 doh &8 36T e & Tcdeh 92+ 3l 3R o91879T 120 2rsai H ST
Tedeh YR IX TR 37k feiiRa &
(vii) STET 31T gl TISC UG ATHI ohd [T F13T|
Instruction:
(i) All questions are compulsory.
(ii) Questions number 1 to 5 are objective questions, one mark is assigned for each question,
total questions are 30.
(iii) Internal options have been given in question numbers 6 to 23.
(iv) Question numbers 6 to 17 are very short answer questions. Answer each question in
approximately 30 words. Two marks are allotted for each question.

(v) Question numbers 18 to 20 are short answer questions. Answer each question in
approximately 75 words. Three marks are allotted for each question.
(vi) Question numbers 21 to 23 are long answer questions. Answer each question in

approximately 120 words. Four marks are allotted to each question.
(vii) Make clear and labeled drawings where necessary.

w1 T fadhed gae faf@e 1*6=6
(i) =geTc# Ta|ROT T 0T 91T ATl ¢ -

(31 o1 @) sa (@) A= (@) 318 @ g L
(ifo=fofaa & @ &9 a1 ugrdy  3eqwfad & Thar g2

(37) eyl @) 3AFTH FeaRrss (@) TwRAa (@) 3URerd gl
(iii) PIRAAT Broe Tl gl &
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Question 1 Choose the correct option and write
(i) The property of minimum diffusion is found in

(a) Solid (b) Liquid (c) Gas (d) None of these
(ii) Which of the following substances can be sublimated?

(a) Naphthalene (b) Ammonium chloride (c) Anthracene

(iii) Cell membrane is made of

(a) lipids (b) protein  (c) lipids and proteins (d) None of these

(iv)The distance traveled per unit time is called

(a) Speed (b) Velocity  (c) Acceleration (d) Displacement
(v) The resistance of an object to change in its state of motion is called.

(a) Friction  (b) Inertia (c) Weight  (d) Momentum
(vi) SI unit of work is-

(a) Joule (b) Arg (C)watt  (d) Newton
wReT 2 Nebed AT T gictd Ffaiw -

(i) TeTey fr ... 37aTAT gidT |

ii) U & PR & WABT & 4 Jerd... dgelld &
iii) fopaT g gfafshar ge.....fgem & a7 s g

Question 2 Fill in the blanks

(i)There are......states of matter.

(ii) Substances made of same type of atoms are called....
(iii) Action and reaction forces work in.....direction.

(iv) Work = force *.....

(v) Sound waves are ......... waves.

(vi)..... is used in vermi compost.

TRl 3 Hcd/ 3y i@

(i) a9 deat 3R agHET gea ¥ 39 gg H deoT Ihdr g
(ii) frTeeT wer @AM AT gar g

(iii) ShTERIFH T GAT] ST 40 BT &

N Aa (F) A (&) caoT (@) Rreume
V) a&] SaRT el i e dr # aRadsr & IR 1 HEd 8-

(d) All of the above

) AN A FIS FET

1+x6=6

1x6=6



(iv) IS & HAEYAS AT SEIATS TR IS delled # gm g
(v) E39T aRGdT T T T F ITHAGET gl |
(vi) FHEYHFET & A6 o Bl B

Question 3 Write true/false

Gas can change into liquid due to increase in pressure and decrease in temperature.
(i) Suspension is a homogeneous mixture.S

(iii)The atomic number of calcium is 40.

(iv) lodine isotope is used to make tincture iodine.

(v) The rate of change of momentum is directly proportional to the force.

(vi) Honey is obtained from bees.

U 4 HEY SISl SA1SU-

(i) TAsor (3T)HSIT

(ii)&aoT ()7t

(iii) a1t &1 9T Td (¥)1000 STeT il Hehs

(iv)1TkW (@Au

(V) FATSSHIDIT (B)arg

(vi) g ()Ha0T FETdh IiFd
(M3

Question 4 Match the following-

(i) Boiling point of water (a) Fish

(ii) Mixture (B) Newton

(iii) First law of motion (c) 1000 joules per second

(iv) 1kw (d)373k

(v) microphone (e) air

(vi) Rohu (f) Hearing aid device
(g) gas

15 Teh ¢leg/ ded H 30X fof@u-

(i) Gefcd I AFS FAT §7?

(i) AFET H IREIYOT 3GTAT FAT §IaT 67

(il) RT 1 YAGFT BT fhd Sl HT =1 BT 872
(iv) Teh ST &l 3SIHCT FIT AT g7

(v) Tt &g 1 arfcst el & fav egeie faf@T

(vi) egraIAaThT & foIT fohed dRel & 39T fhaT ST 87
Question 5: Answer in one word/sentence

(i) What is the unit of density?

(ii) What is the dispersion state in butter?

(ii) Of which tissue is the fibrous peel of coconut made?

(iv) What does the odometer of a car measure?

(v) Write an expression for the kinetic energy of an object.
(vi)Which waves are used for ultrasonography?

1x6=6

1x6=6



URe6. I FSAT A Fgd g ?
AYgdar
HaTelel &l GEId AT ol Fgd & ?
Q-6. What is latent heat?

Or
What is the produced heat of fusion?

gee17. ded U9 A 7 &1 IR 872
3AYgar
FomsSr Reger & 2 o7 A
Q-7. What is the difference between element and compound?

Or
Write two properties of colloidal solution.

RS, TRAT] & FAT THSA &I?
3ryar

3T & AT HHSAT 812

Q-8. What do you understand by atom?
Or
What do you understand by molecule?

&9, TEIBIS o URATY] HISel T HIS al HiAdl Ty
3HYar
QIfSTH WAY] & Folaciicien e fAaf@u |
Q-9. Write any two shortcomings of Rutherford's atomic model.

Or
Write the electronic configuration of sodium atom.

g2710. ¥F &Y 39T & A AT Betal 39T 3raifis gared gar @
372
da% & & F1F faf@y

Q-10. Write the names of two organs which contain their own genetic material.
Or
Write any two functions of plastid.

U111, 3 fhd Fgd & &80T SIfa|
3R_ar
TR3MTeR 3ds & o &1 fafam]

Q- 11. What is tissue? Give examples.
Or
Write any two functions of areolar tissue.

YeA12. ITel TG d H &I X Jd1sy|
3ryar
ol vg fEATgs 7 & 3 Jd1sy|




Q-12. Explain two differences between speed and velocity.
Or
Explain any two differences between distance and displacement.

;rams.wzaé’rg‘éwwﬁa-ﬁaﬁaﬂmwﬁaﬁ%?
37Uar
Teh QAT 98 W Did-pld & dof fohameier ga 7

Q-13. What forces are acting on a standing bus?
Or
What forces act on a moving bus?

UReT14. I&cdld a0 Tohd shgd 872
3Udar

3cCATdehdl FIT 87

Q-14. What is gravitational acceleration?
Or
What is buoyancy?

TReA15. Foil TXET0T T e fofa
AYgar
afdst Foit vd fRufasr Fef & &1 ¥ &2
Q-15. Write the law of energy conservation.

Or
What is the difference between kinetic energy and potential energy?

gea16. yfaeafa Fa Fgd 87
AYgar
WAl F S & i A
Q-16. Whatis resonance?

Or
Write any two applications of ultrasound.

URE17. B 3cUles et & His & U fafar
AYdr
e FIETT JatieT & IS & 33U faf@|
Q- 17. Write any two measures to increase crop production.

Or
Write any two measures for crop protection management.

w18, fmfafEd & ¥ faf@c-

(YyaTsa# 3iierarss (i) TegiATags Jiearss (iijhierad Felae
AYdr

farafaf@a difer 7 faegaeT daat & a7 faf@e-

(i) ST §IHT AT (ii) gI3sIotel sATSS (i) IefATH Tethe




Q-18. Write the formula for the following:
(i) Sodium Oxide (i) Aluminum Oxide (iii) Calcium Carbonate

Or
Write the names of the elements present in the following compounds

(i)Slaked lime (i) Hydrogen bromide (iii) Potassium sulphate
URET19. WA Ta gahiaAieen Hifenr # el iR fafEy] 3
Agdr
ST RART AT qred HIfART 1 AAITRS = q137]

Q-19 Write three differences between prokaryotic and eukaryotic cells.
Or

Draw a labeled diagram of an animal cell or plant cell.
T2a120. IS Al SIC STl H TORTATTEAT H T @I Y T 3.0 ms™? T AT caroT & 8.0 s doh
Tl § | 3 HHY 3HeTel H AT e fordel gy T el 82 3
Agdr
Teh h{FH 3G 42250 km ST AT IAThR et A g7 T & | Ife 98 24 61 A gedrhr
IReAT HIAT & ar 3T T1eT &1 IRFereT HTAT|

Q-20. A motorboat starting from rest on a lake accelerates in a straight line at a constant rate of
3.0 ms™ for 8.0 s. How far does the boat terval during this time?
Or
An artificial satellite is moving in a circular orbit of radius 42250 km.calculate its speed If it
takes24 hours to revolve around the earth.

2T 213GT8X0T o ITY SATET hIfS | 4
(I)TRATIT FEAT (i) Ge AT HEAT  (jii) THAEAT D (iv) GHATRD
31ar

3R ST GTATY] T HAEATART [ 1287 (49.7%) T §iBr (50.3%)] & &7 H g al, sl
TRAT] o 3T IHATY] GeTHTeT T I0TAT HITAT|

Q-21. Explain with examples-
(i) Atomic number  (ii) Mass number (iii) Isotope (iv) Isobar
Or

If bromine atom is available in the form of,say, two isotopes [ 32B7 (49.7%) and 5:Br

(50.3%)], calculate the average atomic mass of bromine atom.

122, YR A AT FATTFSId g, & fhdel YR Frgiarg RQa aeir g arf@a o=

I HSATST| 4
3Agdar
qiert 7 TSt & 81T S FHsST|
Q-22. What do you understand by muscles, how many types are there? Explain striated
muscles and unstriated muscles.

Or
Explain the role of epidermis in plants.



9T 23 Ueh ITg 3R FeaTer fem F R Fr 30T 49 m/s & 9T Thehl ST & IRebeleT
EAEIY 4
(i) STERAH FTTS STET eh T 31 TETA ¢ |
(ii) g2t Y ATg TR ATaH SAlcet A ForT I el THY |
Agdr
gl AT G & ST IecaTehy 0T Sof T GRehore hiforT| feam &, g2l T e e = 6 +10°*
kg AT A HFTgeqA AT =2 *10° kg  Glell o S MFA G 1.5* 10 ' m g
Q-23. A ball is thrown vertically upwards with a velocity of 49 m/s. Calculate.
(i)The maximum height to which it rises.
(i) The total time it takes to return to the surface of the Earth.
Calculate the force of gravitation between thOerEarth and the Sun. Given that the mass of the

Earth = 6 * 10** kg and of the Sun =2 * 10%° kg. The average distance between the two is 1.5 *
10 "' m.
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fexar
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fexar
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U.9. Al el PHal ARl | 2
fexar
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9.10. ¥l AT STvie 213t A 3Teherd | 2
3feraT

Tarerter: "g: fhH BRI |

911, eNfarlRaart= arenf & &1 ufa Herafa @Sy g)) 2
(i) q& TR REram |
(i) &garcATg el AR |
(i) T fAg! omfiE HAT Ha |

.12, N@1fhd UeTafIe yed Al goa— (@i gh) 2
(i) aTgen Fifdae foem |
(ii) TdH: [HHOT I A |
(iii) T g fqemars: el |

U.13. 9reg uRads dgzed— (1T &) 2
(i) XM et R (dpefare)
(i) & gl (Wrgarey)

(iii) ITeTp: faenerd B (FHaTA)




U914, U—U3 FARTALAIDI [d8Td WUIGSAYRIHIT Ydb GHTSTH forad | 2

U.15. JENARITY g ATy YhagH Hoa—(PIiSy gl) 2
(i) ¥ fHTer: Mrpafa
(i) =0 A T
(iiii) 31 TR

U.16. Uaal: ¥eq: Raqee Igfd fed—(@ifsy TR Yoxd=2

CC) J— T ARETT |

(M) AT REART |

(&) AT T&T RN AT ..o g gfRaar|

(8) TOM: O oo Hqf=d |

(@) BB o SERIng

U.17. Uecd aad: HeATGHTR fored | Yoxd=2
() =T T 3 B SUTHIR J& T 49 heal |

)
() dTe]: dTeT: YebTeh! fohAfd Iemme Urfaerd |

: HYDHR: G A fRERadr |
9.18. 3fElforRad Tenel ufSed UeAMi STl ¥dad W forad— 3
JATGIYIHT AT TAURAT | JARIUR A A1 9 reerd Afdbar SIar aq a3
WU YRATET Iad | IGT i R UgGIal 9 W0 alelehiod 88l dret! @I,
S o8 cad ANFHIARATH Toherd WOHT ISIaHd drFHd 1 Q=T 3faad 38 e
A1G: gfear o | I | Ad SIS W Wof HIHE A1 W@l W JIRIE |
1. ¥ HUH AR AfhT FSoIT?
2. P ¥ ydg: ?
3. 9T & AU WU 9a9q JTRIEd ?
aferar
gepfar: FHYT U HRevm Iad | 39 wa gwifa Al uen: g@ |rm: @ aiafa | gedt
STorq ot dRY: SMBIR: ¥ IR WA don | d=d fafelcr guadar aisArs  gafaRo
YT | fedd e A dld: I S TRl oI STSIIaiRery]: AT gRIEw:
forsfr adka Ama: qataRor g |
1. Ui Sy &I Idqd?
2. g8 B gUI?
3. AT GG Tl BIi?
U.19. EfeiRad uenel ufda@r Ul ISR |ARRd | foRgd— 3
| &1 HHUN ardl faeu=i g g:Rad |
g9 WRTd e | qRIaAr |
TeT—
1. @I daT HRON aral f[deawi gg:Raar?
2. JAFTATIAT AT &b TGL?
3. o H/A Td q&T?

3ferdar
o 2 e YT gt e |

oA TREISY AR FH: |




T~
1. BY T Haed:?
2. U TR HUH Hafd?
3. Y UIH: b Baed?
¥.20. 3ENforRad AT yfSear Ul IRIOT H¥hd ATYM forgd— 3
Al o/ o 9 9=l g Wadi: |98 w9 Ui el favaenyy! He] sy
T TN GHATA 98 BRI |
Ted— AW e 7 791 e
HfceTep— 39! =, TR, /11, "Il Biuerad: qaH: Tes~<

3T HIT T TR Al ARG | 98 TR TANTHSIE: | 9 I8 edeel], ger—
qIHRIET— IRl URUTer |
geIT—

1. dfectad! gl T Aqga Tefd W?
2. W QST URUT |
3. HfooAdl BT YIRS |

3ferar

J&Y:— ARURa]! ®f A7 R FRIN | wae & 9 g wafd sraegadr Remm?
fear g A SR AHHIgET |
qUIge— oMeedd! fdw fysaiing g SRfd? Redr o varwemrta 6?2 Jadr
ferfre
geY— (i) Rifad fafaaq a=e Rif<aaq 7 o | qgraan sifeRrg favafafd |
YT T &AISRHA | TUIew”: (AISUIH
Arg—arg! SIS |
geT—

1. fawar™: AgAmT & HAM?

2. I Ag HRfI?

3. dulecl: &: Iaddr?
g.21. IR aafdd werel yfdw@r Uedr IR0 E¥dhd |V fofed— 4

IRR T yH W iR | INRETE W gd WEE IRRW JRIY AR
faeafr | o I SR T UIVRIERE: 3US: W@¥d §R 26 | IR IRR PG
HAR: vafd | gt geen wenfy 9 wafw | e i vafd uR9gq IR A9l
i | ARGERY SdR Haf | 3IRAT Al O+ GAISTAR BIIST ATIM: e HROM: |
geT—

YRR B YUH GHARIA?
ARTSRH b wafar?
DI G & I = 9af=q?
IR e WS forad?
¥.22. WUTARIRI Gl fabremdd i« o forad — 4
3ferdT
e faare =g WiAE Uit U5 S 9 forad |

A w N =

¥.23. ENfoIRacy Ush v wiige |Aeha Wl e forad— 4
1. A&hd YIYRIT: 8
2. w9 0 afa:
3. O
4. TITOROT



T8ed gd ST Uy U - 2023-24
HET- o (AT - 3D
fawg - fo=dt

IHY - 3 °eT [ - 75

i gty sfard €|

i.  UA® Uy & g Sdfed s Iudb JH Sfpd | |

i.  UHHHG 1Y 5P 30 T U 8 | TP IU-UYH R 1 3 FuiRa § |

iv. UYHHDG 6F17 IHFA 12U | TP U R 2 3ich Ry § | g T T 30 Te ¢ |

v. UHHHG 18 W 20 IF FA 3 UH 8 | AP U W 3 3 Rufika § | <rsg I e 75 5 € |

vii UHBHI® 21 W23 TF AU S | TP U R 4 3 e § | wsg P amnr 120 5 | |

vi, UM BH® 6323 d% It vl & 3iaRe A feum g |
vii. I U UF 31O W & N § | I8 1R el 3 arftier udten o <2ft aRe & ryar T8t Uy IR S |

1. 98! fape &1 994 * fafae - (1x6=6)
i. IRATUT BT & AF HETHTH BT A § —

(3N TeIad @) YGRS IR () Hrbd @) AR

ii. ‘et 3R PIfbar T 7-

(3) IYRI Rg AR 1 (@) TRRIGR UG I (W) Fgled! adl BT (G) ARIIATT dagdql B

iii. PTF & WG A MU g -

(3N @l @ &= @) IR @ T
iv. SR & el BT =17 T -

(31) A @ QR @) T (@ BT
v. foR fafa & wream ) Ped @ -

(31) HTST @) s ) o @ de
vi. BUltaRATY 0] & UG sifaftie SUa &1 91 § -

(30) BT g CIRIEAE! @ fel offee (@) Wpd
2. fyaa =i & gfd o e - (1x6=6)
i. BId GG TR-TR ----mmmmmmmmmmmmen T S A1 918 | | (SO d/ART/ERER)
ii. HIAAT & WMo TR BT A ----------- T | (/T/3ATBR))

TRCID I I G YR G £ e 2) . —— % HRUI G § | (Ue/31d/req )

IV o e L 2 | 5 e — ST 9T8d & | (@bia/dartEl/fagsh)

VAR o s A o[ — HERINENEE)

vi. T BT gEY TP A P oo UE S| @R/ /S)

(1



3. frafafea syl & a9 9@ a1 s fafae -

. HR T JHTS YURSD Y |

i, FER Wi B e U © |

iii. AT BT g A el g |

iv. ST T B T0T faer H ST § |

v. "yofa H fy Ui g |

vi. QRIHT Jgdl T Pt dRIR) TR &1 98 &1 A1 R T |
4. 98t WSt 31 e w7 faf@e -

T (30) T (9)
INGNE (@) gRUfd
i gaar @) TR I
i 3T BT ITqH @M HlcP BT BT B
v GRRIP TRATS @) 3
vi SNTA®IC @) aftfe e
(@) BRI HafHt
(S) HIfP Ba

5. Frafefaa vyl & SO ve-vs gy | fafae -

i g o e A (@TIE) B IRE To-4S FX DI T ?
ii. U§Y BTod & Wal & 1 ferfan 2
iii. "RATATRYT gd A fory fayfasera @ qua St &t Iurfy ured o1 off 2
iv. I P YR TR a1 & - WE B & 2
v. TIRI®T Jgal T ® IRarGl A Hiex & SR o Tad A off 2
vi. SIS H UTS H 91 & UTHI B T Hgl TAT g ?
6. UF e & g™ P! fba- Hrall & §Ter 71 § 2 A I Bral & A oy |
3yt
TS HIAd & DIS al HIAUT b 1 Td 371 Th-Udh 91 1 14 faife |
7. GRATC U 34aT ARG Iqdcl & Uid Gicd @1 B1S - 31 fadwart il |
8. fd U= 3 T B TR fgss 1 G i gl @ 2 fafdw |
3T
HaAE dEe BT R T B A8 J R AT § 2
9. ford ST Y g1 TH & UHTT I D1 713 § 3R i 2
3ryar
A1 A IIGd T BgAF B forg aRg o1 iR 4l 2

(2)

(1x6=6)

(1x6=6)

(1x6=6)

(2)

(2)
(2)

(2)



10. AT ©¢ @ uRyT fafag | @)
3Yar
U, SRTATY o AR hTod b1 GRUTT frfau |
11. RIS 3R WUSHTHA | PIs ol 3R fAfAu | ()
3Yar
IUHT 37cfbR T TRHTST IR0 Ffed forfa |
12. 72 &1 U faersii & =3 forfey | )
3ryar
g faer &1 9 uley fafey |

13 IR0 Uae Sr4aT HeTed! aHi &1 dis - &l 9 forad gu g # 3T R fafey | ()

14,13 G137  aT Trerdl § b R1 SR A & o) Al <t 2 @ 9l B HUT UIS & MR W fAfEw | (2)
3ryar

G g WIH AT A STH3M T T & T B 7 T1eH SO ?
15, TIfer it yah Ut 5 & 2 forfRa | @)
3yt
AR eTed! 9t 7 TR F9UA & o ure § o1t Of &1 fot faRiwanstt & aR & drn & 2 fafag |
16. fafaRad gerart &1 o forad gU arl §f wanT Sifvg - ()
i, BT T IHFT i, 3¢ BT Tig gl
3yt
Y BT gRUTHT Td YR & 14 fafay |
17. 91¢ Wfedt &) Heg & fore &R 1d IR Fr-a1 Wit 8T SH1a=as § 2 )
3yt
URRATY X & B o 4 fafa |
18. Fafdifed ereaixr &1 das-uwi dfgd wrard fafee- 3)

T IEIT I BF , Te geftar S|
WH Y IR §, Yeb ¢ 39 [T ||

3ryar
Waﬁﬁwﬁﬁwﬁwnﬁ$wl
STog gl ao—err ﬁﬁaﬁﬁa%aﬂﬂaﬁwu
?ra‘raé’r S fed e TWaR uRA|
@Wa a@@rao—?r fafer e1feid) §t e wda BT SRA|
(3)

19. fFgferad e ot dJe-ud gfed aaren fafdu- (3)
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20. TTaTATd & o faw R Ue sigwde [ | (3)
3ryar

i H ST T ST 18 & FavT TR ST 9% TS ¥ HaTe fafa |
21, FyfeRad Sufdd HToaT YT TR B Ugehr g T Uil & IR faife - (4)

T BT oY HeT §, Siia gard W\ 3,
OS] Ad 4G B, TSl HIH DI a1d B |
Bl Hgl GEPIA T, THPI Ig JHI &
Sifa g9d 361 5, §:9-99 H 951 5|
FH g1 et tha 8, ¥ I el dia §,
3id ¥ I oiid 8, THY it 3T Hid g
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iii. SORa TR T IR fafay |
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3ryar
TTa: DT TR & oH STl gU 3T DI UTS ) 0 g |
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I 9A-99 2023-24
Practice Question Paper 2023-24
HeT : 9 fawy : a1foig @e A

SUBJECT - MATHEMATICS CLASS-9™ Set A

AT ;3 HS qufte : 75
Time : 3 hours Maximum Marks : 75
iﬁé?l’ :

1. Tt 92T g et e § |

2. 9= & faw 3mafed 3 3o TFAE 3ifhd & |

3. 9T . 1 & Ul %. 5 T a&Jfvs WRe ¢ |

4. YA . 6 T YT 23 do Icdsh U H AdRe deheq fear smr § |

Instructions :

1. All the questions are compulsory.

2. Marks allotted for the questions are mentioned against them.

3. Questions from 1 to 5 are objective type questions.

4. Internal choices have been provided for the questions from 6 to 23.

1. 98 faser ga=t fAf@T : 1x6=6
(i). T IRAT qAT Th IUANAT TEAT & ANTH AT FR Td Teh TEAT Rl

(o) 9RAT wE&AT (b) 3URAT FEar

(c) 9 H&AT  (d) Yoiieh H&T
(i). (3++3)(3—+v3) = AW &-

(@) O (b) 1 (c) 3 (d) 6
(iii). Al # Tgue & §

(@ 5 ® y+> (@0 (d) VZx+3
(iv). SgUe x° + 3x* + x - 4x°+7 P OT ¥

(@) 2 (b) 4 () 3 (@) 0
(v). V5 & EHGd YOR § :
(@) @id 3=madt (b)) 3r@id 3madf
(c) 3rard g 3adt (d) 39Eid g JAAadt
(vi). HIRIOT y = 3x + 5 &I :

(a) Th 3feddyd gl ¢ | (b) hael a1 &l ¢ |

(c) IRAT &I @ 3h T & | (d) P & 7S ¢ |

1



1. Choose the correct option and write:
(). The sum or difference of a rational and an irrational nhumber will always be a:
(a) Rational number (b) Irrational number (c) Real number (d) Whole number
(ii). The value of (3 ++V3)(3-V3) is:
(@0 (b1 ()3 (d) 6
(ii). Among the following, which is not a polynomial:
@ 5 (b)y+§ © 0 @) VZx+3

(iv). The degree of the polynomial x? + 3x* + x - 4x*+7 is:
(@) 2 (b) 4 (c) 3 (d) 0

(v). The decimal expansion of /5 is:

(a) Non-terminating (b) non-repeating

(c) non-repeating and terminating. (d) Non-terminating and non-repeating
(vi). The equation y =3x+ 5 has:

(@) One unique solution. (b) Only two solutions.

(c) Infinitely many solutions.  (d) No solution.

Z.ﬁﬁ'm#tgﬁm‘@: 1X6=6
(i). —=-mmmmmmee Hd T HAell & T 9geFd &5 3Tely gl & |

(TR : 2 JK; 1[G [ES—— 3787 & FATAR Ueh IXel QT 8icl ¢ |

(iii). & Y@TE S TH & WN & FAAR Bl § TER --mmmmemmemoee g ¥ |

(iv). Uh THETIETg ST BT SR ST & TFHG PO oo A ¢ |

(v). a8 Tagser foraehr @l oot FAE g 3R Tcdeh 0T 90° 3 & SRS B, -

ETCICIN
(vi). BT 60° & IIF HIOT FT FGIH PIOT —--mmmmmev T

2. Fill in the blanks:

(i). is used for continuous class interval
(ii). The equation x = a represents a line parallel to the axis.
(iii). Lines which are parallel to the same line are -------------- to each other.

(iv). In an isosceles triangle, the angles opposite the sides are
(v). A quadrilateral with all sides equal and each angle 90° is called a

(vi). The supplementary angle of a complimentary angle of angle 60°is



3. amfaf@a & fav g faf@u: 1x6=6
(i). y = 0,x —37&T T THHIOT ¢ |
(if). afe &Y et & Hore T R gF ar eyl T g ¢ |
(iii). fornely T8feT # 3f¥hcd &) 10T 3T 0T g1 Fhl § |
(iv). &g # g W el g & A= arem W@r@us g @1 aRfE g 2
(
(

V). SRERAI IgeTST TATA TSI & & eET-3eET 3Hiehgl i Jelell H & IUEM Mol Bl ¢ |

vi). TS @IoT & AT 180° gelr & |

3. Write True/False for the following:

(i). The equation y = 0 represents the x —axis.

(ii). the triangles are congruent if their corresponding angles are equal.

(iii). In any triangle, at most, two angles can be obtuse angle.

(iv). The perpendicular drawn from the center to a chord of a circle is its radius.

(v). Frequency polygon is very useful graph for comparing two different sets of data of
the same nature.

(vi). A straight angle measures 180°.

4. g I Reas: 1X6=6
TAFH A T+ B
(). 3T g TH (a) SoteT
(i). y-3e7 W Trud fog & (b) T Rieg
(ii). mﬁm*fmm © (0,4)
(iv). B 3R T 3eTe’oT (d) ?az
(v). a3 aTel HATE AT T &T el (e) TS
(vi). THIPIOT 4x + 3y =12 HT Th & & (f) (0,3)
4. Match the following:
Column A Column B
(). Rectangle is a type of (a) Cylinder
(ii). The point will lie on the y — axis. (b) Class-mark

Upper limit+Lower limit

(iii). () (0, 4)

2

(iv). Example of a solid figure (d) gaz

(v). The area of an equilateral triangle with a side length of 'a' is (e) Quadrilateral
(vi). The point satisfies the equation 4x + 3y = 12. (f) 0,3)

5. t& JEFg/Usg # 3W AR 1x6=6

(i). Y@ sgug $ ard @fEw |

(ii). x=3y # ax+by+c=0 F & H faf@T |

(iii). g (4,~3) e aqaier & Rya g |

(iv). §g (-5,2) #r x-3167 & g ¥ gelr ?

(V). qOT I0T T AT FAT giar § ?

(vi). T 3@ g3t @ gt 3R dd fohdal g Wi ST @ 8 2
3



5. Answer in one sentence/word:
i). Write the expression for the cube of a linear polynomial.

ii). Write the equation x = 3y in the form ax + by + ¢ = 0.

iii). In which quadrant will the point (4, -3) be located?

iv). What will be the distance from the x-axis for the point (-5, 2)?
v). What is the measure of a complete angle?

(
(
(
(
(
(

vi). How many circles can be drawn passing through three non-collinear points?
1 e
6. 5311?1 & 9T IR IRAT &AU AT HifST]

Find four rational numbers between g and 1.
3AYar (0r)
1
5 & & FI IRATHOT FIfAT |

Rationalize \/—15 .
7. Wa fFT: (7). (8):
Simplify: (7)%. (8)%
31yar(0r)

5
e afr:qwaﬁﬁpirl

Simplify: NN
8. IUAEST FfSY 1 %% - 2x2 —x +2

Factorise: x3 —2x?—x+2
3AYar(or)
(3a + 4b)® F gATRT & A faf@u |
Expand: (3a + 4b)3
9. f¥g3it (1,5), (4,-3), (-5:4) T (-3,-2) H HIAF ToT T AT HITIT |
Plot the points (1,5), (4,-3), (-5,4) and (-3,-2) on the Cartesian plane.
314ar(or)
ST ool Y x-378T 3N y-318T GaRT fohclal @ # fIsTiara foham Sirem & our 3+
1IN T FIT Fgd © ?
The cartesian plane is divided into how many parts by x-axis and y-axis and
what are those parts called?
10. g3t (-2,4), (3,-1), (-1,0) @ (1,2) & & fohet wgaier & g, A |
Write in which quadrant the points (-2,4), (3,-1), (-1,0) and (1,2) are located.
3ar(or)
faigait (5,2) 3R (7,4) & o1 IR Ffe & A= QT |
Write the values of the abscissa and ordinates of the points (5,2) and (7,4)
1. f4eg (-1,3) & g Sl arell fhegl a1 X@13it & @#eor fafee)

Write the equations for any two lines passing through the point (-1,3).



3AYar(or)
HEROT 3x —4y =11 & PIS &l & QT |
Write any two solutions for the equation 3x — 4y =11

12. Ife 9=g (3,4) FHIHRUT 3y = ax + 7 @aRT AEAT W R AT g Al o HT AF FAT§ ? 2
If the point (3,4) lies on the line represented by the equation 3y = ax + 7, then what is
the value of 'a'?

314ar(or)
ko T AT & [T, x =3,y = —2 GFAHROT 3x +y = 2k HT Th & g

For what value of k does the solution x = 3,y = —2 satisfy the equation 3x +y = 2k?
13. e & faeg3it 4 3R B & &ra v g ¢ o Ry § & AC = BC @ ey Hifsw
fRAC=24B ¥l TF 3gfa dieew Fove HifST | 2
If a point C lies between two points A and B such that AC = BC, then prove that
AC=%AB. Explain by drawing the figure.
31Yar(or)

I A,B 3R € Toh W W Byd AT foig & 3R B, foegait 4 3R C & g Ry g ar
ey $Ifav f& AB + BC = AC

If A,B and C are three points on a line, and B lies between A and C, then

prove that AB + BC = AC.
14. & 915 30pfa A, TR AB || CD, £APQ = 50° AR £PRD = 127°% @ x IR y 1d &HifC]

In the given figure if AB || cD, 2APQ =50° and «PRD = 127° then find x and y

A P 3
h 509\
y
X 127°
Er(or)  C Q R D

o FI0T &I AT FFT |
Define straight angle.
15. AABC # LA &1 GHE[AHTSIH AD $[1 BC W oFd § &2f5T fh AB = AC

In AABC, AD is the perpendicular bisector of BC. Show that A ABC is an isosceles
triangle in which AB = AC
AYar(or)
ABC U FHACiAsTE 31T & oA AB = AC &| AP L BC WHoa goiisv o 4B = «C.
ABC is an isosceles triangle with AB = AC. Draw AP L BC to show that «B = «C.
16. ABCD Teh HHUHST 30 YN & fh 2ACB = 40° A £ADB &I & AT HAT |

ABCD is a Rhombus such that zACB = 40° Then find the value of 2ADB
5




AYar(or)
AR TelsT o aRe¥d ST |
Define parallelogram.
17. <IGHAT T A YT & S 1 T Teh °ATS § AT gl i AT J2dl & Al &l
i & et § 2 2

The diameter of the moon is approximately one fourth of the diameter of the earth. Find

the ratio of their volumes.

3Jar(or)
14 QAT =41 E arel el &1 IS8T &Fthel AT HITST |
Find the surface area of a sphere of diameter 14cm.

18. 4% 3MHIT H Teh FATH TGS ABCD T 0T AC, £A T HHACTAATST el & |

aRMisT o ABCD Teh HHUHS Bl 3
Diagonal AC of a parallelogram ABCD bisects <A in given figure. Show that ABCD is a
rhombus D C

314ar(or) A B

s ST o el Begsr B v oo & #ALF-[Ng @ q@d ol & FHTR didr I=—AT @r
Rl oo wEERe A ¥ |
Prove that the line drawn through the mid-point of one side of a triangle, parallel to
another side bisects the third side.

19. T U # Wl & faffest 317 auif & Sl 1 & &1 T Irefeos
FdetuT(random survey) el W fAFATAET 31ehs gred gU :

m(a-sﬁﬁ) 1-2 2—-3 3-5 5-7 7 —-10 10—-15 | 15—-17
d<dr T g&ar 5 3 6 12 9 10 4
W feU sl # AFNAT R arar T IJAdaT difRw | 3

A random survey of the number of children of various age groups playing in a park

was found as follows:

I (@St 7 ) 1-2|2-3|3-5|5=-7|7-10 | 10—15 | 15—17
STt v gEar 5 3 6 12 9 10 4
Draw a histogram to represent the data above.
Ydar(or)

T IR H [Adg @ Fashiew (cost of living index) &l 3eadsT i & fov ArAfaf@d
grearfger 9ator fow 1w

fordg @< gaws | 140 —150 [ 150 —160 [ 160 —170 [ 170~ 180 | 180 —190 | 190—200 | Ferarer

'\q'q."'g’i' &Y m 5 10 20 9 6 2 52

Wﬁummwwmagﬂa(mwm)@ﬁv|



In a city, the weekly observations made in a study on the cost-of-living index are given
in the following table:
Number of weeks 5 10 20 9 6 2 52

Draw a frequency polygon for the data above (without constructing a histogram).

20. TS A & MUR & AH 24 JAT § 3R [ Fu1g 21 Qolt B sl ol o8 T & Tthel AT
ST | 3
The diameter of the base of a cone is 24cm and the slant height is 21cm. Find its total
surface area.

3q4ar(or)
10 QAT BT arel Toh 378 el &1 el JSEIT & athel IR T AT HITST |
Find the total surface area and volume of hemisphere of radius 10cm.

21. Rrell FTS3NET 1 PASTHER QAR A AT & v B e ¥ | QAR & spensit H

JEaTsar 122 &, 22 & 3R 120 # § | 39 fFauea @ gfaay 5000 wfa #2 i wifiea g & |

T FeAl o AR I AT &7 & AT 3 #AGA & fav e o fom | 38 el e fomman

fem | 4

The triangular side walls of a flyover have been used for advertisements. The sides
of the walls are 122m, 22m and 120m. The advertisements yield earnings of ¥5000

per m? per year. A company hired one of its walls for 3 months. How much rent
did it pay?

31Yar(or)
WWWE’I‘S"W‘WF@%’ﬁm%ﬁ%ﬁm‘a’mﬁaﬁqlgwaﬁqlg
38T & 3R 1 8| ERIT & I 1 TN Feh $H 1S HT &bl AT AT | I
Hohd 15 &7 IRATT 180cm §| oY ST &T%hel FAT T ?
A traffic signal board, indicating ‘SCHOOL AHEAD’ is an equilateral triangle with
side ‘a’. Find the area of the signal board, using Heron’s formula. If its perimeter is
180cm, what will be the area of the signal board?
22. Ty HfST & g 1 JoF Shaw sg W Jed HIOT AR A g 4
Prove that equal chords of a circle subtend equal angles at the centre.
31¥ar(or)
fey R fF ThT AR agelst UF 3T gl § |
Prove that a cyclic parallelogram is a rectangle.

23. 3T TIGTAFT T TAT FIF (999)3 &7 AT ATT PV |

Find the value of (999)3 by using appropriate identity. 4
31dar(or)
2x% +y? + 822 - 242xy + 42yz — 8xz I U;I'U'I?-IEEH HfST |

Factorise 2x2 +y? + 822 - 2/2xy + 42yz — 8xz
y Yy

% % % %k %



Practice Question Paper -2024
Subject -English
Class-IX
Set-A

Time 3:00 Hours Max. Marks -75

Instructions: -

e All questions are compulsory.
e Marks are indicated in front of each question.
SECTION-A (READING)

Q-1 Read the passages carefully and answer the questions given below. (1x5=5)

Pachmarhi is the only hill station and is the highest point in Madhya Pradesh.
Pachmarhi is also often known as "Satpura ki Rani" or the "Queen of the Satpura
Range". Situated at an altitude of 1,067 metres, the picturesque town is a part of
UNESCO Biosphere Reserve, home to leopards and bison. Five sandstone cut caves on
the hilltop are believed to be the spot where Pandavas stayed in Pachmarhi during their
exile, making it a popular spot among religious tourists. Being at an elevated height and
surrounded by bewitching forests of the Satpuras with the streams and waterfalls,
Pachmarhi is a perfect weekend getaway from the nearby cities of Madhya Pradesh and
Maharashtra. Since the town was discovered and developed in modern times by
Captain James Forsyth of the British Army, it houses charming churches built in colonial
style architecture.

Questions:

I. Pachmarhi is often referred to as-

(a)Queen of Madhya Pradesh (b)Satpura Hill Station

(c.) Satpura ki Rani (d) Capital of Madhya Pradesh

II.What is the altitude of Pachmarhi?

(a)1,000 meters(b) 1,067 meters(c) 1,500 meters(d) 2,000 meters

I.Why is Pachmarhi considered a UNESCO Biosphere Reserve?

(a) due to its colonial architecture(b) presence of leopards and bison

(c)sandstone cut caves (d) high altitude streams

IV. According to the passage, who is believed to have stayed in the five sandstone cut caves
in Pachmarhi?

(a)British soldiers(b)Mughal emperors(c) Pandavas(d) Captain James Forsyth

V. What is the meaning of "picturesque" as used in the passage?

(a) interesting and boring (b) beautiful and charming to look at

(c)busy and full of people (d) far away and empty

Q2. Read the passages carefully and answer the questions given below. (1x5=5)

When we are young, we learn that tigers and sharks are dangerous animals. We might be
scared of them because they are big and powerful. As we get older, however, we learn that
sometimes the most dangerous animals are also the smallest animals. In fact, the animal
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that kills the most people every year is one that you have probably killed yourself many
times: the mosquito. While it may seem that all mosquitoes are biters, this is not actually
the case. Male mosquitoes eat plant nectar. On the other hand, female mosquitoes feed on
animal blood. They need this blood to live and produce eggs. When a female mosquito bites
a human being, it transmits a small amount of saliva into the blood. This saliva may or may
not contain a deadly disease. The result of the bite can be as minor as an itchy bump or as
serious as death. Because a mosquito can bite many people in the course of its life, it can
carry diseases from one person to another very easily. Two of the most deadly diseases
carried by mosquitoes are malaria and yellow fever. More than 700 million people become
sick from these diseases every year. At least 2 million of these people will die from these
diseases. Many scientists are working on safer and better ways to kill mosquitoes, but so far,
there is no sure way to protect everyone in the world from their deadly bites.
Questions:
I. People might be scared of tigers and sharks when they are young-
(a) because they are small and harmless (b) because they are big and powerful
(c) because they are friendly animals (d) because they are plant eaters
II. What is the primary source of nutrition for male mosquitoes?
(a) animal blood (b)plant nectar
(c)human saliva (d)dead plants
Ill. Why can mosquitoes easily transmit diseases from one person to another?
(a) because they are fast flyers (b) because they can carry a large amount of blood
(c) because they bite many people in their lifetime(d)because they are immune to diseases
IV. Which two deadly diseases are mentioned as being carried by mosquitoes?
(a) malaria and dengue (b) yellow fever and zika
(c)malaria and yellow fever(d) dengue and West Nile virus
V. Which of the following has the same meaning of "transmits" -
(a) swallows (b) passes on (c) consumes (d) creates

SECTION- B (WRITING)

Q.3 Read the following passage and make notes on it and also give a suitable title to it. 4

Global Warming is caused by the increase of carbon dioxide levels in the earth’s atmosphere
and a result of human activities that have been causing harm to our environment for the
past few centuries now. Global Warming is something that can’t be ignored and steps have
to be taken to tackle the situation globally. The average temperature is constantly rising by
1.5 degrees Celsius for the last few years. The best method to prevent future damage to the
earth, cutting down of more forests should be banned and Afforestation should be
encouraged. Start by planting trees near your homes and offices, participate in events, teach
the importance of planting trees. It is impossible to undo the damage but it is possible to
stop further harm.

Q.4 You are Nishi studying in Govt Girls” Higher Secondary School, Morena. Write an
application to your principal requesting him to issue books from the book bank. 4

Or



Write a letter to your friend congratulating him on his success in the examination.
Q.5 Write an essay on the any one of the following topics in 150 words. 5

a) Importance of Discipline

b) Science in our daily life

c¢) Environmental Pollution

d) Importance of festivals in our Life

Q.6 Look at the picture given below and write a short paragraph about how you enjoyed
your family picnic. (In about 75 words) 3

SECTION-C (GRAMMAR)
Q-7 Fill in the blanks choosing the correct alternative given in the brackets. (any five)

(a) I didn’t buy mangoes. (some/any/much) 1x5=5

(b) Sharad-------- watching TV when the power went off. (was/were/is)

(c) Honesty is ------- best policy. (a/an/the)

(d) We were making kites when my father (arrive/arrived/arriving)
(e) She is not going to office she isill. (and/so/because)

(f) ___ you taken my pen? (have/has/did)

Q.8 Do as directed. (any five) 1x5=5

(a) Our team played well. We did not win the match.(Combine the sentences using ‘but’)
(b) Pramod sells toys in the market. (Make interrogative)

(c) Sarita was watching a movie with her sister. (Change into Present Perfect Tense)

(d) He saw a snake. (Change the sentence into negative)

(e) Mohit is too weak to walk himself. (Rewrite using ‘so....that' in place of ‘too...to’)

(f) He eats bananas. (Change into passive voice)

SECTION-D (Textbooks)
Q.9 Answer the following questions. 1x4=4

(i) Where did Tommy find the book?
(a) in the library (b) in Margie’s house (c) in his house (d) in his friend’s house



(ii) What does the poem ‘The Road not Taken’ speak about?

(a) about the smooth roads(b) about the people(c) about green grass(d) about the choices
made by people

(iii) When did the intruder enter Gerrard's house?

(@) when he was sleeping (b) early morning

(c) when he was about to leave for a rehearsal (d) midnight

(iv) What change did the encounter with the snake bring in the doctor’s life?

(a) understood the value of life(b) no change(c)became a fearless person(d) became an
arrogant person

Q.10 (A) Read the following extract and answer the questions given below-

To the little girl he was a figure to be feared and avoided. Every morning before going to
work he came into her room and gave her a casual kiss, to which she responded with ‘Good
Bye Father’. And oh, there Was a glad sense of relief when she heard the noise of the
carriage growing fainter and fainter down the long road! 3
Questions:

(i) The little girl feared and avoided-

(a)her mother (b) her father (c) her grandfather

(ii) Her father visited her-

(a)in evening (b)in morning (c)in afternoon

(iii) Find out a word from the passage which means “answered”.

(B) Read the following extract and answer the questions given below- 1x3=3

Frail crumbling houses, crumbling doors, crumbling rafters,

crumbling wood, crumbling bodies, crumbling lives,

crumbling hearts-

the wind god winnows and crushes them all.

Questions:

(i). Why are the houses, doors, rafters etc. crumbling?

(a)because they are weak (b) because they are solid (c) because they are strong
(ii) Why has the wind been called ‘god’?

(a) because, like ‘god’, he uses his power

(b) remove and crush the undesirable, weak things.

(c) both (i) and ii)

(iii) In the context of the poem, what does "winnows" most likely mean?
(a) builds

(b) destroys

(c)protects

Q.11 Answer the following questions (any 6)- 2x6=12
(i) What things about the book did Margie and Tommy find strange?

(ii) Why was Kezia afraid of her father?

(iii) What did the headmaster say about Einstein?

(iv) How did Abdul Kalam earn his first wages?
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(v) Why was Santosh Yadav sent to the local School?

(vi) What did the snake seem admiring in the mirror?

(vii) Why did the intruder not kill Gerrard immediately?

Q.12 Answer the following questions in about 30 words- (any 2) 2x2=4
(i) What makes an echo in the poet's heart?( Rain on the Roof)

(i) How is the city life different from the life at the Lake of Innisfree?

(iii) How does the poet suggest that all people on earth are the same?( No Men Are
Foreign)

Q.13 Answer the following questions in about 30 words- (any2) 2x2=4
(i) How did Toto manage to escape from the closet?

(ii) Why does the Happy Prince send a ruby for the seamstress?

(iii) Why was Johnsy counting the leaves on the creeper outside her window?

Q.14 Answer the following question in about 75 words- 3
What was the doctor’s opinion about himself? How did this opinion change after his
encounter with the snake?
Or
Do you agree with Margie that schools today are more fun than the school in the story? Give
reasons for your answer.
Q.15 Write the central idea of the poem ‘The Road Not Taken’. 3

Or
What is the message of the poem “Rain on the Roof”?
Q.16 Justify the title of the story ‘The Kingdom of Fools’ in your own words. 3

Or
What values did Olga exhibit while saving the life of Lushkoff?



